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QUESTION 1 

a) T 

 

b) F 

 

c) F 

 

d) T 

 

e) T 

 
(5 marks) 

 
 
QUESTION 2  
 
a) mean = 252/15 = 16.8 , standard deviation = √38.6 = 6.2129 
 (2 marks) 
 
b)  

 
 (2 marks) 
  
c) The shape of the distribution is skewed to the left. 
 (1 mark) 
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QUESTION 3 
 
a)  

 
 (3 marks) 
 
b) We can conclude that the customers not spent more than RM110 because 110 is 

included in the interval. 
 (2 marks) 
 
 
 
QUESTION 4 
 
a) X = 85.20 – 82.30 = 2.90 
       Y = 9 
 (2 marks) 
 
b) 95% CI = (1.199, 4.601) 
 (1 mark) 
  
c) There is enough evidence to conclude that their resting pulse rate has reduced after five 

weeks because 0 is not included in the interval 
 (2 marks) 
 

  
  

END OF QUESTIONS 
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APPENDIX 1 
SAMPLE MEASUREMENTS 
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CONFIDENCE INTERVAL 
 

Parameter and description A (1 - ) 100% confidence interval 
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Mean difference of two normal distributions for  

paired samples, d 
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